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HINTS & SOLUTIONS

2.(1)

4.(3) 5.(3)
Gloated means dwell on one's own success or another's
misfortune with smugness or malignant pleasure. So,
Rejoiced is the word which is similar in meaning to it.
Accosted means approach and address (someone) boldly
or aggressively. So, addressed is the word which is similar
in meaning to it.
Tormented means cause to experience severe mental or
physical suffering. So, tortured is the word which is similar
in meaning to it.
Convulsed means shake uncontrollably/violently. So,
pacified is the word which is opposite in meaning to it.
Besieged means surround and harass. So, freed is the
word which is opposite in meaning to it.
Double negatives should never be used in a sentence. It
makes an error. So, remove ‘No’
By/to should be used in place of ‘at’

13.(3)

14.(1)

15.(4)

16.20.

The verb ‘are’ should follow the noun ‘other topics’. To
which it refers. The (3) part of the sentence should be
‘know what other topics are most’.
The comparative should be uniformly used. Both
adjectives ‘smooth’ and ‘easy’ should be in same form.
‘Smoother and easier’ is the correct usage.
The article ‘the’ is necessary before ‘entertainment
industry’
The correct sequence is FEDCBA.
'ED' makes a mandatory pairs as they are linked with the
word 'too’".
17.(4)
19.(1) 20.(3)
22.(4)
24.(3) 25.(3)
Twins are usually similar in appearance but to say that
“nobody believed they were twins” means they were
different in appearance.
When a person starts doing something after completing a
job, we use “Having + V3 +...”
After ‘one of’ a plural noun is used. Hence ‘the function’
should be ‘the functions'’.
The use of ‘each’ in the sentence suggests a singular
number hence ‘their’ should replace with ‘his’.
Let the person buy 10 articles.
Total CP = Rs. (1 +§) = Rs.9
4 4

. 2 20

SP of 10 articles = Rs.a X10= RS.E

NP (9 20)
- LOSS = RS. Py 9

R (81780)—11 1
=P TEe )T s

1
Now, If loss is Rs.%, number of articles = 10

~ Ifloss is Rs. 3, number of articles =36 x 10 x 3=1080
CP of 120 exercise books = Rs. (120 x 3) = Rs. 360

SP of 40 at Rs. 4 each = Rs. (40 x 4) = Rs. 160

SP of 60 at Rs. 5 each = Rs. (60 x 5) =Rs. 300

SP of remaining 20 books = Rs. (20 x 3) = Rs. 60

Total SP =Rs. (160 + 300 + 60) =Rs. 520

Profit % = Rs. (520-360)

=Rs. 160

" Profitd = —o0 x 100
& "7 360

=044y
9 9

1
Amount given to sons = 84100 x . Rs.42050

Amount given to B = Rs. x (let)

« Amount given to A = Rs. (42050 - x)

R AT

A=P (1 + m)
R 2

= (42050 - ) (1 + 1)
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(1+505)

T 100

= (42050 — x) = x(1 5
= (42050 —x) = x(l +

= (42050 —x) = x(1 393
s2050—x = x(23)
= —r=x[==
X X 20
4471x

42050 - x =
= * =400

42050 = 41X,
= ~200

441x + 400x

= 42050= 200

_ 841x
"~ 400

= 841x = 42050 X 400
42050 X 400

841
= Rs. 20,000

=X =

34.(2) If A alone does the work in x days and B alone does the

work iny days, then

1 1 1

ey w0

.21
Again,— +3—: .- (i)

By equation (ii) x 3 - (i).
1 1 1

25 z:
= x == = 6-days.
4 4

Let the trains meet after t hours
Then, 21t — 16t = 60
=5t =60
=t =12 hours
~ Distance between Aand B
=(16+21)x12
=37 x 12 = 444 miles
3601 3602 1803 604 155

Lttt %

1+1 2+2 3+3 F 444
154 iswritten in place of 155.
4 12 45 196 1005 6066 42511

1 N 1 1 | 1 1
x2+(2) %3+(3)° x4+(4) x5+(5)° x6+(6)° *xT+(7)
42 is written in place of 45.

12 20 30 42 56

I_Tl_Tl_Ti_Tl_Tl_T

+6 48 -10 +12
8is wrltten in place of 6.

32 16 24 60 210 945 51975

x05 =15 x25 =35 x45 x55
65 is written in place of 60.

7 13 25 49 97 193 385

[ | | |

+6  +12 +24 +48 +96 +192
194 iswritten in place of 193.
Total age of son and mother
2X+7x=2x27
9x=54
X=6

4 RACE

~ Mother'sage after 7yr=7x+7=7x6+7=49yr
Let total monthly income of Mr. Giridhar be Rs. x.
After spending 50%, remaining = z
A According to the question,

%—%(50%+ 25% + 10%) = 900

X= 3 =Rs.12000

Circumference of circular plot= ic_m =220
=2mr=220

220 ><7"_55><';"_35
To2x227 T 1 ¢
Total cost of flooring the plot = Tir® x 100

:2?—2 x 35 x 35 x 100 = Rs. 385000

P*SIX10076500X10076250
~ RxT  8x13
Rate of Cl at the rate of 8% for 2 yr

8x8

—Ba sy

=16.64%

o 1= 6250 = Rs. 1040
Akash scored in subject A =73 marks
Akash scored in subject B =56% of 150

=150x i = 84marks
100

Akash scored in subject C = X marks

Maximum mark of all three subjects is 150.

=~ Total marks = 150 x 3 =450

Now, according to the question

Marks obtained in subject A + Marks obtained in subject B
+ Marks obtained in subject C

=54% of total marks

= 73+84 +X =450 x >4

100

= X+157=243

=X=243-157=86

=X=86

Hence, Akash scored 86 marks in subject C.

Let time taken by to complete work 1 individually with

efficiency of Monday
=2xand 3x
So,

1

1+1
2x ' 3x 3
5 1
6x 3

=

2

Let time taken by A & B to complete work 2 individually
with efficiency of Friday

=4x,5x

Since

5x =10

x=2

So,4x =8

2%

Required ratio =

=h:8
Time taken by A to complete whole of work 1 with
efficiency of Monday =5 days
Time taken by B to complete whole of work 1 with
efficiency of Wednesday
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Required percentage = % X100
3

=53 % %

Whole work 1 completed by A with efficiency of Monday = 5 days
‘Whole work 1 completed by A with efficiency of Tuesday = ? days
‘Whole work 1 completed by A with efficiency of Wednesday = 97—6 days
‘Whole work 1 completed by A with efficiency of Thursday = % days
‘Whole work 1 completed by A with efficiency of Friday = ? days

B complete work 2 with efficiency of Wednesday is 15
Let A and B complete work individually working with
efficiency of Wednesday is 9x and 7xday.
S0, 7x =14
x=2
9x =18
1

1
First two duywork of both=— +—

14 18
_9+7

T 126
H
63
56

In 14 day part of worlk complete = Ty

Remaining work — g

1
A will complete 1e work on 15 day

Remaining will be complete by B on 16 day
7
i.e. 3 day

50 total time = 15§day

5
Required percentage = 455 X 100
17

. X 100
- 108
_ 3500% _ 2125%

108 27

150+ 350 + 250
=3 750 15

Req. ratio = T50+ 400+ 300 — 850~ 17
3

Total funds in 2002 =250 + 200 + 150 =600 crore

Total funds in 2005 =300 + 250 + 50 =600 crore

Both are equal, Hence 0%

Fund allocated to Maharashtra in 2006 = 50 x 1.1 = 55

crore

Fund allocated to Andhra Pradesh in 2006 = 300 x 1.2 =

360 crore

Fund allocated to Karnataka in 2006 = 250 x 1.4 = 350

crore

55+360+350 765
3

Fund allocated to Maharashtra in 2001, 2002, 2003 = 300

+200 +250 =750

Req. average = = 255crore

4. RACF

Fund allocated to Karnataka in 2003, 2004, 2005 = 200 +
350 + 250 =800
£000— BB e = 25
TS A
600, 600

Req. Average = % =200

x =15, 3; y =3, 15; Reationship
x=5y=9,9 y>X.

Req. % =

7=8787 + 343 x+/50
= 25.61x 7.07 = 181.06 ~ 180

54881 x (303+8) = (?)2
or,38 x37.8=(2)2 (+37.8~38)
or,38x38=(7)2
~7=4/38x38=38

5 7
?:§ X4011.33+EX3411.22

20056.65 23878.54

~ T8 10
= 2507.08+ 2387.854 = 2507+ 2387
= 4897 ~ 4890
?7=23%0f6783 +57%0f8431

— X 6783+ ot X 8431
100 100

= 23X 67.83 + 57 X 84.31
= 1560.09 + 4805.67 = 6365.76 ~ 6360
7=335.01x244.99+55
=335x245+55

=335x% 1 = 2207 _ 149227 ~ 1490

55

Logic:- (i) Opposite of all the vowels in the word according
to decreasing English alphabetical series .

(i) Than total number of letter in the word plus 2.

(iii) Opposite of the first letter of the word in the English
alphabetical series.

For example:- "People”

(i) Opposite of all the vowel in the word according to English alphabetical series=s VL
and write it decreasing alphabetical order
(if) Than total number of letter in the word plus 2 = 6+2=8

(iii) Opposite of the first letter of the word= K
in the english alphabetical series

Code is= VVLBK

.
66. (4) 67. (1)
68. (1) 69. (2)
71 (5) M{'l q"’l

D+ G(+) B(+)

E(-)
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72.(1)

B(+) F(-)

w(-) R(+) )

_ Pl)
V36419 =45= 3v5
B

6m. C

S

3m.

A
Divyaraj

B E&m.

A F
Divyaraj

From all the condition which is given in this puzzle, is
sufficient to arrange the seating arrangement and their
blood relation.

There is a condition,

T who is the aunt of P, is the sister of W and W is the
grandfather of U. The one who sits immediate right of T's
mother is W’s sister.

T()—W(#)

P

u

Now, X is the mother of W and The one who sits 2nd left
of Xis R who is the oldest member of this family. There is 4
generation in this family. X has only two children.

From above condition, we can see that X is the mother of
T. and R is the oldest person that means he/she will
belong to 1st generation and he will be the husband of X.
S0,

=~

T's mother

R(+) ==X(-)

(") =——W(+)

et

T's mother

4 RACE

Now, The son of R sits 3rd right of W’s sister. We know

that W is the son of R, so
W

=
X
T's mother
Q has one grandson who sits immediate right of her and Q

is the sister in law of T.
R(+) ==X()

T()—WHET—= q()

P

u
V’s husband is the only child of Q and The mother in law of
V sits opposite to V.

R(+) =—=X(-)

T() — W= q(-)

P(+)=—V(")
u(+)
And we can see that mother in law of V is Q, so there is
two case,

Casel Casell

==/
Q
X

T's mother T's mother

Q has one grandson who sits immediate left of her and
Father of U is immediate neighbor of W. Now we can see
in above case Il that the grandson of Q, means U can be
seated in immediate left of Q, so Case Il will be
eliminated.

And Father of U is P, So,

T's mother

77.(1)

79.(5) 80. (1)
In this puzzle, there is some condition to solve this
problem.
The one, who sits at extreme end, has birthday in January.
D sits 3rd right of the one whose birthday is in January,
who is neighbor of G.
In this condition, we can see that the one whose birthday
is in January, sits at right most bench side, since since all
are facing towards South, and D sits right of it.
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Statements:
B=H>E=<L <P
Conclusions:

I. B< P(FALSE)
Now, There are 3 person sits between D and C. The one I1. P>E(TRUE)
who has birthday in the month whose starting letter is M, I1I. H>L(FALSE)
sits together. C has birthday in May. That month whose IV.E=B(FALSE)

name’s starting letter is M, is March and May. Stitemientas
c D G

L 1 1 | 1 1 1 ] M = T = ] = K = Q
I T I T I I T | Conclusions:
May March lanuary South L. T=Q(TRUE)
G sits immediate left of the one whose birthday is in April. I1.]>Q(TRUE)
The immediate right of the who sits at extreme end, has il T= KaLar)

birthday in June and F has birthday in January. WM QEAL)
2 o 2 = Statements:

! —t } ! } I } l R=D= L. =M=<P
sanuary “uen Conclusions:
1. M>R(FALSE)
H and J sits together but both have not birthday in March. 1. D= P(FALSE)
¢ HY) D G F 111. L=< P(TRUE)
1t IV. D=M(FALSE)
May March April  June AUV oyt 100.(4) Statements:
. o o ) ) W<F>M=<D=T
The one whose birthday is in July is immediate right of the Conclusions:
one whose birthday is in August. L. F>D(FALSE)
D’s Birthday is not in August. IL. T>W (FALSE)
¢ wom D . 111 M< W(FALSE)

I 1 T T T T l IV.T=M(TRUE

May March July August April June January S eh

January South

May March April June

J has not birthday is in July. | does not sit to immediate of
H.

C E H J D I G F
1 l ] 1 1 1 ]
I T T T T T T

]
I
May March July August February April June January gouth
82. (5)
84.(4) 85.(5)
Only 543 and 618 will be divisible by 3 when added 3 to
second digit of each number.
862 953 543 861 764
6+2=3
1163 660 844 919 768
268 953 345 816 764

GO ey

92.(2)

solutions
“‘“
— .
QJheadXprincipais>
Deans

(o Qauene >

Statements:
U=N<W=<R=D
Conclusions:

1. U= W(FALSE)
II. D= W(TRUE)
IIIl. N= R(TRUE)
IV. U< D(FALSE)




